

### Department of Education REGION VI - WESTERN VISAYAS

#### SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF DUMARAO

			PERFORMANCE	EXPERIENCE		Cre	dit Points i	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-AM31	TEACHER III	5.000	22	20	12	12	12	12	12	10	10	100
2	MTCHR1-IR07	TEACHER III	4.930	16	20	12	12	12	12	12	3	10	93
3	MTCHR1-HL78	TEACHER III	4.825	27	20	12	12	0	12	12	3	10	81
4	MTCHR1-DM66	TEACHER III	4.846	21	20	12	0	0	12	12	3	10	69
5	MTCHR1-AR68	TEACHER III	4.829	14	20	0	0	12	12	0	3	5	52

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent

Chairman

DNA BAZCARRAGA, P

ucation Program Supervisor OIC, SGOD Chief

HRMPSB Member

SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



## Department of Education

REGION VI – WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF JAMINDAN

			PERFORMANCE	EVECTORISE		Cre	dit Points	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	EXPERIENCE (YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-RK42	TEACHER III	4.965	20	20	12	12	12	12	12	10	10	100
2	MTCHR1-PA60	TEACHER III	4.965	16	20	12	12	12	12	12	3	10	93
3	MTCHR1-DM30	TEACHER III	5.000	22	20	12	12	7	12	12	3	10	88
4	MTCHR1-PG33	TEACHER III	4.976	22	0	12	12	12	12	12	10	10	80
5	MTCHR1-FL47	TEACHER III	4.976	11	0	12	12	12	12	12	10	10	80
6	MTCHR1-GN29	TEACHER III	4.965	18	0	12	12	0	12	12	10	10	68

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent
Chairman

DNA B. AZCARRAGA, PhD Education Program Supervisor

OIC, SGOD Chief HRMPSB Member Chief Education Supervisor - CID

Member

SEGUNDINA F. DOLLETE, EdD

KENNETH D. ANOCHE

OIC, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:

MIGUEL MACO. APOSIN, EdD, CESO V Schools Division Superintendent



## Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER II FY 2024 DISTRICT OF JAMINDAN

			PERFORMANCE	EXPERIENCE		Cre	dit Points	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	RATING (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR2-PH43	MASTER TEACHER I	4.941	30	0	12	12	12	12	0	10	0	58

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent

Chairman

ducation Program Supervisor

OIC, SGOD Chief HRMPSB Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

EPS II - ALS
OIC, Office of the Administrative Officer V

Member

MA. SHARONS. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:

MIGUEL MAC D. APOSIN, EdD, CESO V Schools Division Superintendent





## Department of Education

REGION VI - WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER II FY 2024 DISTRICT OF MAAYON

			PERFORMANCE	EVERBIENCE		Cre	dit Points i	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	EXPERIENCE (YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR2-DL81	MASTER TEACHER I	4.965	16	20	12	12	12	12	12	0	7	87
2	MTCHR2-FM91	MASTER TEACHER I	4.91	16	0	12	7	12	0	12	3	10	56
3	MTCHR2-DA120	TEACHER III	4.864	28	20	12	12	12	12	12	10	10	100
4	MTCHR2-LL52	TEACHER III	4.871	19	20	12	12	12	0	12	3	10	81
5	MTCHR2-BE44	TEACHER III	4.93	25	20	12	12	0	12	12	3	5	76
6	MTCHR2-LA55	TEACHER III	4.93	19	20	12	12	0	0	12	10	10	76
7	MTCHR2-FM90	TEACHER III	4.895	15	0	12	12	12	12	12	3	10	73
8	MTCHR2-DV104	TEACHER III	4.93	25	20	12	12	0	0	12	3	0	59
9	MTCHR2-BF69	TEACHER III	4.93	12	0	12	0	0	0	12	3	0	27

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIEB. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent
Chairman

EDMA B. AZCARRAGA, Ph.D. Education Program Supervisor OIC, SGOD Chief HRMPSB Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE EPS II - ALS

OIC, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



## Department of Education

REGION VI – WESTERN VISAYAS

#### SCHOOLS DIVISION OF CAPIZ

# COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF MAMBUSAO WEST

			PERFORMANCE	EXPERIENCE		Cre	dit Points	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-MI101	TEACHER III	5.000	20	20	12	12	12	12	12	10	10	100
2	MTCHR1-VR85	TEACHER III	4.895	10	20	12	12	12	12	12	3	10	93
3	MTCHR1-VA98	TEACHER III	4.888	12	20	12	12	12	12	12	3	10	93
4	MTCHR1-BA45	TEACHER III	4.925	8	20	12	12	12	12	12	5	8	93
5	MTCHR1-PM74	TEACHER III	4.965	12	20	12	0	0	12	0	3	1	48

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIÈ B. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent

Chairman

EDNA F. AZCARRAGOPHD

Education Program Supervisor

OIC, SGOD Chief HRMPSB Member SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V Member MA. SHARON'S. BARRIENTOS
Administrative Officer IV/ HRMOII

Member

Approved by:



## Department of Education

REGION VI – WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER II FY 2024

## DISTRICT OF MAMBUSAO WEST

			PERFORMANCE	EXPERIENCE		Cre	dit Points f	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR2-BL95	MASTER TEACHER I	5.000	24	0	12	12	12	12	12	0	10	70

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent

Chairman

EDNA B. AZCARRAGA, RhD

Education Program Supervisor

OIC, SGOD Chief HRMPSB Member SEGUND NA F. DOLLETE, EdD
Chief Education Supervisor - CID

Member

KENNETH D ANOCHE EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON/S. BARRIENTOS
Administrative Officer IV/ HRMOII

Member

Approved by:

MIGUEL MAC D. APOSIN, EdD, CESO V Schools Division Superintendent



## Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF PANAY

			PERFORMANCE	EXPERIENCE		Cre	dit Points	for Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(VFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-AJ20	TEACHER III	5.000	10	20	12	12	12	12	12	5	10	95
2	MTCHR1-DM103	TEACHER III	4.976	28	20	12	12	12	12	12	5	10	95
3	MTCHR1-UJ49	TEACHER III	5.000	12	20	12	12	12	12	12	3	10	93
4	MTCHR1-VR92	TEACHER III	4.850	20	20	12	12	12	12	12	10	5	95
5	MTCHR1-DR51	TEACHER III	4.825	17	20	12	12	12	0	12	3	3	74

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent

Chairman

lucation Program Supervisor OIC, SGOD Chief HRMPSB Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE EPS II - ALS OIC, Office of the Administrative Officer V

Member

MA. SHARON'S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



## Department of Education

**REGION VI - WESTERN VISAYAS** SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF PILAR

			PERFORMANCE	EVDEDIENCE		Cre	dit Points i	for Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	EXPERIENCE (YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-FA70	TEACHER III	4.965	9	20	12	12	12	12	12	10	10	100
2	MTCHR1-DJ26	TEACHER III	4.993	8	20	12	12	12	12	12	5	10	95
3	MTCHR1-OP19	TEACHER III	4.976	20	20	12	12	12	12	12	3	10	93
4	MTCHR1-MC13	TEACHER III	4.965	18	5	12	12	12	12	12	3	10	78
5	MTCHR1-CC24	TEACHER III	4.93	20	0	12	12	0	0	0	10	2	36
6	MTCHR1-BR48	TEACHER III	4.625	10	0	12	0	0	0	12	3	0	27
7	MTCHR1-CL59	TEACHER III	4.934	20	0	0	0	0	0	0	0	0	0

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent Chairman

MA B ACARRAGA Education Program Supervisor OIC, SGOD Chief **HRMPSB** Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID Member

EPS 11 - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARONS. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



## Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF PONTEVEDRA

			PERFORMANCE	EXPERIENCE		Cre	dit Points i	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	RATING (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-CE82	TEACHER III	4.969	7	20	12	12	12	12	12	10	10	100
2	MTCHR1-CL114	TEACHER III	4.965	24	20	12	12	12	12	12	5	10	95
3	MTCHR1-DM112	TEACHER III	4.939	27	20	12	12	12	12	12	5	10	95
4	MTCHR1-DM67	TEACHER III	5.000	19	20	12	12	12	12	12	3	10	93
5	MTCHR1-RM46	TEACHER III	4.993	22	20	12	12	12	12	12	3	10	93
6	MTCHR1-DR83	TEACHER III	4.953	19	20	12	12	0	12	12	10	10	88
7	MTCHR1-VI115	TEACHER III	4.930	28	20	12	12	12	0	12	3	10	81
8	MTCHR1-AM118	TEACHER III	4.930	22	20	0	12	12	12	0	3	10	69

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the assistant Schools Division Superintendent
Chairman

EDNA B AZCARRAGA, Pha Education Program Supervisor OIC, SGOD Chief

HRMPSB Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

SEGUND NA F. DOLLETE, EdD

Chief Education Supervisor - CID

Member

OIC, Office of the Administrative Officer V

Member

KENNETH D, ANOCHE

EPS II - ALS

Approved by:

MIGUEL MAC D. APOSIN, EdD, CESO V Schools Division Superintendent



## Department of Education

REGION VI – WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF SAPIAN

			PERFORMANCE	EXPERIENCE		Cre	dit Points	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-TA27	TEACHER III	4.965	15	0	12	12	12	12	12	3	10	73
2	MTCHR1-LR73	TEACHER III	4.958	12	0	12	12	12	12	12	3	10	73
3	MTCHR1-VM41	TEACHER III	4.962	15	20	12	0	0	12	12	3	10	69
4	MTCHR1-OS34	TEACHER III	4.951	10	0	12	12	0	12	12	5	10	63
5	MTCHR1-CJ36	TEACHER III	4.951	18	0	12	12	12	0	0	3	1	40
6	MTCHR1-VE110	TEACHER III	4.930	14	20	12	12	12	12	0	3	0	71

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNE B SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent
Chairman

EDNA B. AZCARRAGA RhD Jucation Program Supervisor OIC, SGOD Chief

HRMPSB Member

SEGUND NA F. DOLLETE, EdD
Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

EPS I - ALS

Office of the Administrative Officer

Olc, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



### Department of Education

REGION VI – WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF SIGMA

			PERFORMANCE	EXPERIENCE		Cre	dit Points	for Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	<b>RATING</b> (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-RV88	TEACHER III	4.951	29	20	12	12	12	12	12	5	10	95
2	MTCHR1-FE58	TEACHER III	4.965	17	20	12	12	12	12	12	3	10	93
3	MTCHR1-AR71	TEACHER III	5.000	12	20	12	12	0	12	12	3	10	81
4	MTCHR1-GL28	TEACHER III	4.976	17	20	12	7	12	12	12	3	7	85
5	MTCHR1-DC62	TEACHER III	4.965	16	20 -	12	12	12	12	12	3	3	86
6	MTCHR1-JJ80	TEACHER III	4.895	15	20	12	12	0	0	12	3	0	59

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent
Chairman

EDNA B. AZCARRAGA, And Education Program Supervisor

OIC, SGOD Chief HRMPSB Member SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

OIC, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



## Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

# COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF TAPAZ WEST

			PERFORMANCE	EXPERIENCE		Cre	dit Points	or Leaders	hip Potent	ials and Acc	omplishme	ents	
NO	APPLICATION CODE	PRESENT POSITION	RATING (SY 2022-2023)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
1	MTCHR1-EA117	TEACHER III	4.969	15	20	12	12	12	12	12	3	10	93
2	MTCHR1-GM57	TEACHER III	4.930	19	20	12	12	12	12	12	3	10	93
3	MTCHR1-LM116	TEACHER III	4.965	30	20	12	12	12	12	0	0	10	78

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIÉ B. SAMPANI, CPA, MPA
OIC, Office of the Assistant Schools Division Superintendent

/ Chairman

Education Program Supervisor OIC, SGOD Chief

HRMPSB Member

KENNETH D. ANOCHE

OIC, Office of the Administrative Officer V

Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

MA. SHARON S. BARRIENTOS
Administrative Officer IV/ HRMOII

Member

Approved by:

MIGUEL MAC D. APOSIN, EdD, CESO V Schools Division Superintendent



## Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF TAPAZ EAST

NO	APPLICATION CODE	PRESENT POSITION	PERFORMANCE RATING (SY 2022-2023)	(VEARS)	Credit Points for Leadership Potentials and Accomplishments									
					A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)	
1	MTCHR1-JC96	TEACHER III	4.881	16	20	12	12	12	12	12	3	10	93	
2	MTCHR1-PE94	TEACHER III	4.864	12	0	12	12	0	12	12	3	7	58	

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA

OIC, Office of the Assistant Schools Division Superintendent

Chairman

Education Program Supervisor

OIC, SGOD Chief HRMPSB Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE

EPS I -ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:

MIGUEL MAC DAPOSIN, EdD, CESO V Schools Division Superintendent



## Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

## COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2024 DISTRICT OF MAMBUSAO EAST

NO	APPLICATION CODE	PRESENT POSITION	PERFORMANCE RATING (SY 2022-2023)	(VFARS)	Credit Points for Leadership Potentials and Accomplishments									
					A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)	
1	MTCHR1-LG23	TEACHER III	5.000	16	20	12	12	12	12	12	10	10	100	
2	MTCHR1-CI84	TEACHER III	5.000	13	20	12	12	12	12	12	3	10	93	
3	MTCHR1-LM22	TEACHER III	4.993	16	20	12	12	12	12	12	3	10	93	
4	MTCHR1-TJ109	TEACHER III	4.951	12	20	12	12	12	12	12	3	10	93	
5	MTCHR1-EL38	TEACHER III	4.993	19	20	12	0	12	12	12	10	10	88	
6	MTCHR1-DM86	TEACHER III	4.965	8	20	12	0	0	0	12	10	10	64	

\*\*\*NOTHING FOLLOWS\*\*\*

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent Chairman

Education Program Supervisor OIC, SGOD Chief HRMPSB Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS OIC, Office of the Administrative Officer V Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by: